Multiplying a Monomial by a Binomial (G)

Simplify each expression.

1 —6w® (Tw* — 5uw?)

2. 8r4(8r° + 3rh)

—253(—65° — 8s*)

W

1 =20t (=60t + T0?)

29(29° + 7g")

Ot

6. —6a*(a® 4 4a?)

EN |

- 3y°(9y* — 8y)

8 —kY =9k + E?)

9. =52 (—8x + 5)

10. 6g°(=9¢* — ¢*)
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Multiplying a Monomial by a Binomial (G) Answers

W

(@)

9.

10

- —6w’ (Tw* — 5w?)

— —42uw° + 30w®

8rt(8r° 4 3r?)
= 64r" 4 247°

—25%(—65" — 8s%)
= 125% + 165"

—2v* (—6v* 4 Tv?)
— 120% — 1407

29(29° + 7g")
= 44¢% + 14¢4°

—6a3(a?’ + 4a?)
= —6a’ — 24a°

3y°(9y” — 8y)
= 27y — 249°

—kH =9kt + k)
= Ok — k7

—523(—8z +5)
— 40z* — 2523

- 6g°(—9¢" — ¢°)

= —54¢g" — 6¢°

Simplify each expression.
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